A bunch of problems associated with sections 5.1 - 5.3 that in no way constitute a
“review”, which would indicate that some sort of assessment is imminent.

Solve the following equations for x. Find all solutions.
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Verify that each of the following is an identity.
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26. Use a sum or difference formula to find sin 2852 and tan 2852,
&
tan 85° = Len(ado® + 43 )

Sin 2850z S (240°+Us )
-51@40"(‘0&45 +£o59¢£a°sm45° > Lan24o®+ ten 4S”
-8, - T —tanaubtands’

e } - Jasl
L L -q3)(1)
o = + | (H’&)

(1-Y2)(\+¥3)
= {2 r143+13

=2 (cosx—sinx o
=2 (cosx-sinz) -3 =3

27. Verify: cod 2% +x
£'—\—|_|-’ 4 b
™ Yied ———— -_
- .

= (es %Tc.ﬂﬁ! — Slﬂé.'t' o LLLP
- -z
j;—;dnak -(3)snx

-1 (cosx~ sinx) v
= |

28. Verify: sin[%+x}=%(cusx+ Ssinx)

r
= S ..“-:cgax + (057, Sinx

- —L—(fcsy_-l' .{-—Stnx}

S5 ar
29. Simplify: sin[?'?x+ﬂ] - SN %" cosB - fos T3 SInNe
= (1) ¢eose - (e)siné

= —cosE



Find the exact values of the following
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